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Log Error: Subscription Mail_Log: Network error while sending log data
to syslog server
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o Time Source Destination Protocol| Info

2T0 20150625 08: 58:04_ 114360 10,448 167 38 18_I39.24.230 TCRP shell » 26040 [SYM, ACK] Soqed Ackel Wins=32138 Lemsd MSS=1350
80 200150625 08:50:04. 114375 10. 729, 24. 230 1044 167, 30 TCP 04D = shel ACH, | 1 =1 7S n=ll

HSM Claent > Serwver data
1 J29,. 24,23 TCP shEll = 26040 [ACK] Seq=1 Ack=40 Win=32073 Lén=0

Ji4 2005-06-25 O 50104 115362 0.4 167, 38 e 229,224,204 TCF shEll = 6040 [ACE] Hég=] ACH=413 Wisi=JA1l7T35 L=t
285 20150625 05:58:04. 116192 10, 44, 167, 39 10, 229,24 .23 CF shell » 26040 [RST, ACKE] Segel Acksd]® Wiss32120 Lensd
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<22>Jun 25 08:50:03 example.com: Info: Begin Logfile

<22>Jun 25 08:50:03 example.com: Info: Version: 8.0.1-023 SN: A4BADB4712A9-511AA1E
<22>Jun 25 08:50:03 example.com: Info: Time offset from UTC: 7200 seconds

<22>Jun 25 08:50:03 example.com: Info: A System/Critical alert was sent to
alerts@ironport.com with subject "Critical <System> mail.example.com: Log Error:
Subscrlptlon Mail_Log: Network error while sending 1.
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